auepelold

INSMO)IY Zseyn "zul JBw

emoboip oads

11/000d/Z620/NOd Ju adn

AR

000L/00L:1L ‘EelexSs

A O MmO O 4
5| 2|22 I8 |
S | Q|23 [2]|2|<2
@ = o =2 2 | T
> | 5|2 |28 |22 |9 n c
Q < | < | s | &l | >
N | Q N = | O
— o 3 [ o E
3 [ = |®| 2|3 = Q) >
| 2 S|lo| 2o Q X
|22 | 9w 8|S Q)
@ | o 0 | < |Z = 5
< - () m L S
2 = O
] (@)
= E
> (@) D
W Km 0+000.00 =~ vV
I - - - o N
$ I ®» w» 8 2 (@)
D o (@] o (@] o
Y 86-60 £:00 12434 4243+ Pt P+ P P+ F ()
o X (@)
=+ 2 ko
= 10.00 — S 010 - 12092 - 12101 y S
S 1521 007 - 12078 - 12086 ~PL Km_04015.21
2. 120.86 B
2000 — -7 004 — 12069 - 120.73 AR T T
58 W Km 0402540 5833 ol=
— S5 . 12055 B9 NERE
00 - & 3S -007 - 12066 - 12059 ]
320 - -007 - 12065 - 12059
P60 - B ~006 - 12065 -| 12059 KL Km_0+035.60
3 rz. 120.59
4000 — -004 - 12065 -{ 12061
NE T
= o
5000 | -011 o 12076 o 12065 = 12
E] 54
i
60.00 — —005 - 12074 - 120.69 = ica Bukowa
4% 2 ER RN e S Rms
7000 004 - 12067 - 12070 MAX_Km_0+066.82
— rz. 120.71 BT
n o1 .
o Wkmoro7872 L3l b=
80.00 — & § 007 - 12051 - 12059 rz. 120.76 sE5EES s
90.00 — 003 - 12030 - 120.33
0340 — 004 - 12017 o 12020 - /KL Km 0+083.40
o 120.20
@o—1 0000 004 - 11992 - 119.95 /§
S
> 0651 — 008 - 1963 - 11971 Vi
= 100 o _ 011 — 11947 4 11958 - 19 B
< s T BT T
Q Q8285 ud
200 - = — = 012 - 11918 - 119.30 NEzggl
> @8 { W Km 0+126.29
3000 — §§ 006 -| 11906 - 119.12 2. 118.36
o ooo
40.00 0.00 11906 | 119.06 3 o3z
4068 = -001 3 11907 5 119.06 = | | | N
46.08 — -003 H 11911 H 119.07 ulica Kasztanowa
5000 004 - 11914 - 11910 \ | ]
alz |5 \LK Km 0+146.08 -
~1Z g e F 2=
60.00 — -005 - 11920 - 119.16 e =
32
63.06 000 4 11921 4 11921 — 5 ¢V Ir 00
70.00 0.01 119.19 119.20 24 rz 1.
.
8000 4 = 005 — 11912 - 11947 &
&3 S
25 0.05 119.09 _| 119.14
A _] <) A _] . .
98 g 55 005 3 11909 3 11914 3 PL Km 0+191.46
94.16 0.04 11909 11913 — / rz. 119.14
@o—1 0000 004 o 11911 o 119.15
o i E J ulica Brzozowa
+ A 88 Rl o\ W Kn OE207EE
o 100 [ 2o 83 001 — 11926 o 11927 = 1909 5 =
S = 3 § B TP
< =3 38 ole S § =3 & S s
T SSRugdm
2000 002 -| 11948 - 11950 S T888RG
2385 — 004 — 11958 o 119.62 Z
3000 — 007 - 11975 4 119.82
37.86 — 001 < 12009 < 12008 —
1000 - B8 1 18% 1 15%
—
<|_Ir|
500 4 & -006 - 12058 - 120.52
3
60.00 — 002 - 1208 | 120.88 o km 0426419
m .
64.19 — 009 - 12094 - 121.03 \ T
7000 — 019 - 12101 4 121.20
\ ulica Topolowa
80.00 = - 015 = 12117 = 121.32 = \ MAX_ K. 0.+280.38
80.38 o Lx 0.15 12118 | 12132 iy .
85 =3 Z 12108 R R
9000 4 =8 IS -003 o 12125 - 121.22 SHELEhos
=3 CSRBER
@—1 0000 3 -022 - 12111 - 12089 //
o 0599 — ~024 | 12083 - 1205 — KL Km 0+305.99
F /1 2 12059
n 1000 -/ - = X | -042 - 12078 4 12036 ;
3 &l = /
o -
o 3 Y ulica Polonii Gdanskiej
200 =\ 35 -057 = 1203 =2 11979 = /¥ km 0t$h05
20,59 - -0.58 12034 | 119.76 —119.76 _
. & m 04329.72 20 N S0 =
3000 — * S -026 - 119.63 - 119.37 TN o0 o Qo0 2
37.67 5§ -0.15 11942 | 119.27 I/ - || | [T
3887 = -001 3 11939 3 11928 3 /KL Km 0433887 |
40,00 Z008 | 11936 | 11028 08— T | 1]
I\ c".4 I E T I|I 5 F B3 © 2
- S88®ReS s =
50.00 — 004 o 11920 - 119.32 S=— *5o88d
2=
©|3
60.00 — -002 - 11938 - 119.36 Rla
— &
I <
j [=>)
7000 - o —001 o 11941 o 11940 = 1o
= o
3 =
K
80.00 — 002 - 11943 - 119.44
90.00 — -005 - 11953 - 119.48
@o—1 0000 001 — 11951 o 11952
(@]
IS 0944 = 000 = 11947 o 11956 = L ﬁ’{‘g gg"'og"“"
S 10.00 0.12 11944 | 11956 [ rz 118.
2000 — 020 - 11932 - 11952
3000 — 0.16 - 11931 - 11948
4000 — 000 - 11943 - 110.44
m w
] S
5000 - @ 001 — 11938 o 11940 =
3 N
60.00 — 009 - 11927 4 119.36
7000 — 009 - 11922 4 119.32 /
80.00 — 017 - 11811 - 119.28 \
86.26 — 008 - 11917 - 119.25 HTQ[Z’;““G
90.00 —002 - 119.24 - 119.22 :
@o—1 0000 -037 - 11950 4 119.14
woN = oo
(@] / / o w o -0 -
+ W S © S oo Z
& 000 4 &3 -025 — 11930 - 119.05 || | | o
< g5
2000 — 020 | 11877 - 11897 | | |
/ 4 % 5 =
3000 — 050 —| 11838 - 118.88
37 T
&
4000 — 038 - 11842 - 11880 &
50.00 — 029 - 11842 - 11871
60.00 — -015 - 11878 -{ 118.63
00 & -050 - 119.04 4 11854
80.00 — -045 - 11890 - 11846 TLPw T
/PLK 0+587.87 5258keS
o _] _ _] _] _ m . 8 Do ] g
¥ 8686 2 %831 1883 HEH //w”k 8D
S 9424 — -0.14 - 11850 -| 118.36 —MN Km 0+504.24 m +11a'33
0.08 118.30 11838 |7 11858 T Kt K'Z' 0+600.99
] Be 5 NN 012 3 11828 3 11839 o[t o
W 00.0Z g 5: U.T/ 118.24 T18.41 2\3? ulica Rzemieslnicza odc.1
(@]
+
S W Km 0+603.02
Sa rz 118.41
X oM M| O] O] D
c|lg| 2 2 | 3| o C
S | 2|33 |3 |a|¢a =~ —
v | @& <L | <L —- N ay
N- @) n 1)) 2. S m N
— —t 3 —t é
. S | < 5 = (D
% = Q| | @ o m—
3 e = o~ LI | 3
=< n O OO
@ \ I
rr - 2
Z LN |
> W Km 0-+000.00 — Q
AT O N
i & & I @ @ o D
3, 3 3 & .8 8
—a 80:00 847 H8:24——H84 F P 5 Pt Pt @)
2 1000 — 023 -| 11827 - 11850 \
= P O
[
w0
2000 — 026 - 11834 - 11859 < =
\ ﬁ
3000 — 028 - 11840 - 118.68
3529 — 029 - 11844 - 11873 \ %E\Xf% (7’%035'29 N
_ _ _ it 0+040.69
88 9 \ | 8% 7 TRk 1R T / 11675 _
— o I I RN
n L Ay
5000 - RS || 04 o 11825 o 11868 et oZLRlos
— g / ~85IER
[}
6000 R 042 - 11803 - 11844 @ K 0406407
6407 4 & 038 - 11792 - 118.30 m_9+064. . 6 ooo
3 » RSO
7000 — 034 - 1773 - 11807 c|> c|> Tcﬂcu
N
80.00 — 030 - 1737 4 17.68 ]
= I 2
90.00 — 028 - 11701 - 117.29 E%
9449 — — 028 - 11683 - 117.11
@o—1 0000 & 027 - 11668 - 11695
- : /
+ _ - _ — — —_
NTE R ER i e
S =g W Km 0+113.84 Lol idil <
P P T2ndS
e SRR R B tr R ) RS
ya\ N9 47 N N ann N 110 pn N 14020 BYZ 11658 Dw222
- ZZ.TT g g \"AY\v TTUUU TTUUU ﬁ Dw222
o W Km 0+122.47
i rz 116.60
N
No
ollzzs ©
O s2F £ S
Q[[528 8 >
~ 1232 N 3
oflsux
| § o
278
S|z =
e
|25
N =S wN — [e]e) I_
g g S g 3 38z
g T T m
8 N | m
X F =
| - : Z
[ T D
N C
;U o Q
3l 3¢ >
o D 5 ®) o w sy dH =z 7.
x| 8 o o s =z o = (0] =3
D5 < 2 d N s N S
IR RG = =L 5< 5 2
< AN L 0] 0 N PN —. o
(@) - > < o s = = =
Sllmsx Q S o o = B
Q [ ) = 0] a
sl v 38 @ 3 33 2 3
3|03 %< o o o g
Jlloos Q@ N N < F
~ x @ o o o o
Cc o N 3 o) 2
Z -9 ® © © 2
N m
m = o 3. 3.
® N ho) go)
x. o o
5 @
=5 O.
B =
=
<<

T B[S

0001/00T
auznipod 9jyold T°Z "SAY




